**General Info** 

Number: PROJECT NO. 40-19-02

**Description:** 

**BRIDGE REPAINTING** 

PECK ROAD (C.R. 167) OVER OHIO TURNPIKE – M.P. 195.2, ASBURY ROAD (C.R. 223) OVER OHIO TURNPIKE – M.P. 197.8,

STATE ROUTE 700 OVER OHIO TURNPIKE - M.P. 198.5,

NICHOLS ROAD (C.R. 225) OVER OHIO TURNPIKE - M.P. 199.2

PORTAGE COUNTY, OHIO

Deadline: JANUARY 16, 2019 AT 2:00 P.M. (EASTERN)

(Estimated Cost: \$1,200,000.00)

Bids	
Business	Bid Total
Corrosion Resistance LTD	\$848,260.00
APBN Inc	\$852,000.00
Panther Industrial Painting, LLC	\$893,000.00
Elite Contractors, Inc.	\$1,224,325.00
Saffo Contractors	\$1,279,560.00

## **CORROSION RESISTANCE LTD**

GENERAL (Ref. Nos. 1 - 3)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	Extension	
		PREMIUM FOR CONTRACT PERFORMANCE BOND AND	1.00	LUMP	\$15,000.00	\$15,000.00	
1	IB.ART.6	PAYMENT BOND					
2	SP 614	MAINTAINING TRAFFIC	1.00	LUMP	\$225,000.00	\$225,000.00	
3	624	MOBILIZATION	1.00	LUMP	\$35,000.00	\$35,000.00	
					Total:	\$275,000.00	

<b>PAINTIN</b>	PAINTING OF STRUCTURE - PECK ROAD (C.R. 167) OVER OHIO TURNPIKE - M.P. 195.2 (Ref. Nos. 4 - 14)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	xtension	
'		SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00	LUMP	\$47,000.00	\$47,000.00	
4	SP 514A	OZEU					
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$15,000.00	\$15,000.00	
5	SP 514A	SYSTEM OZEU					
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$20,000.00	\$20,000.00	
6	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU					
		FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00	LUMP	\$20,000.00	\$20,000.00	
7	SP 514A	COAT, SYSTEM OZEU					
8	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$37.00	\$740.00	
10	SP 525A	WORKER PROTECTION	1.00	LUMP	\$800.00	\$800.00	
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$9.00	\$180.00	
12	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$520.00	\$520.00	
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$3,300.00	\$3,300.00	
13	SP 525A	DISPOSAL					
14	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00	

**Total:** \$139,140.00

<b>PAINTIN</b>	PAINTING OF STRUCTURE - ASBURY ROAD (C.R. 223) OVER OHIO TURNPIKE - M.P. 197.8 (Ref. Nos. 15 - 25)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price Ex	xtension	
		SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00	LUMP	\$55,000.00	\$55,000.00	
15	SP 514A	OZEU					
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$12,000.00	\$12,000.00	
16	SP 514A	SYSTEM OZEU					
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$20,000.00	\$20,000.00	
17	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU					
		FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00	LUMP	\$20,000.00	\$20,000.00	
18	SP 514A	COAT, SYSTEM OZEU					
19	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
20	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$37.00	\$740.00	
21	SP 525A	WORKER PROTECTION	1.00	LUMP	\$800.00	\$800.00	
22	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$9.00	\$180.00	
23	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$520.00	\$520.00	
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$3,300.00	\$3,300.00	
24	SP 525A	DISPOSAL					
25	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00	

PAINTING OF STRUCTURE - STATE ROUTE 700 OVER OHIO TURNPIKE - MP 198.5 (Ref. Nos. 26 - 36) Ref. No. Item No. Description **Unit Price Extension** Quantity Units SURFACE PREPARATION OF EXISTING STEEL, SYSTEM 1.00 LUMP \$60,000.00 \$60,000.00 SP 514A OZEU 26 FIELD PAINTING OF EXISTING STEEL, PRIME COAT, 1.00 **LUMP** \$12,000.00 \$12,000.00 SP 514A SYSTEM OZEU 27 FIELD PAINTING OF NEW AND EXISTING STEEL. 1.00 **LUMP** \$20,000.00 \$20,000.00 SP 514A INTERMEDIATE COAT, SYSTEM OZEU 28 FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH LUMP \$20,000.00 \$20,000.00 1.00 29 SP 514A COAT, SYSTEM OZEU

SP 514A REMEDIATION OF CHLORIDES

SP 514A GRINDING FINS, TEARS, AND SLIVERS

30

31

\$144,140.00

\$1,600.00

\$740.00

Total:

\$50.00

\$37.00

HOURS

**HOURS** 

32.00

20.00

32	SP 525A	WORKER PROTECTION	1.00	LUMP	\$800.00	\$800.00
33	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$9.00	\$180.00
34	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$520.00	\$520.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$4,000.00	\$4,000.00
35	SP 525A	DISPOSAL				
36	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00
36	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00

**Total:** \$149,840.00

<b>PAINTIN</b>	PAINTING OF STRUCTURE - NICHOLS ROAD (C.R. 225) OVER OHIO TURNPIKE - MP 199.2 (Ref. Nos. 37 - 47)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price E	xtension	
		SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00	LUMP	\$52,000.00	\$52,000.00	
37	SP 514A	OZEU					
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$13,000.00	\$13,000.00	
38	SP 514A	SYSTEM OZEU					
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$20,000.00	\$20,000.00	
39	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU					
		FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00	LUMP	\$20,000.00	\$20,000.00	
40	SP 514A	COAT, SYSTEM OZEU					
41	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
42	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$37.00	\$740.00	
43	SP 525A	WORKER PROTECTION	1.00	LUMP	\$800.00	\$800.00	
44	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$9.00	\$180.00	
45	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$520.00	\$520.00	
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$3,300.00	\$3,300.00	
46	SP 525A	DISPOSAL					
47	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$28,000.00	\$28,000.00	

**Total:** \$140,140.00

TOTAL BID AMOUNT (REF. ITEMS 1 THRU 47)-----

\$848,260.00

# APBN, INC.

GENERAL (Ref. Nos. 1 - 3)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND	1.00	LUMP	\$30,000.00	\$30,000.00	
		PAYMENT BOND					
2	SP 614	MAINTAINING TRAFFIC	1.00	LUMP	\$70,000.00	\$70,000.00	
3	624	MOBILIZATION	1.00	LUMP	\$35,000.00	\$35,000.00	
					Total:	\$135,000.00	

<b>PAINTIN</b>	IG OF ST	RUCTURE - PECK ROAD (C.R. 167) OVER OHIO TURNF	PIKE - M.P.	195.2 (R	ef. Nos. 4 - 14)	
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
4	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00	LUMP	\$95,000.00	\$95,000.00
		OZEU				
5	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$25,000.00	\$25,000.00
		SYSTEM OZEU				
6	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$25,000.00	\$25,000.00
		INTERMEDIATE COAT, SYSTEM OZEU				
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00	LUMP	\$25,000.00	\$25,000.00
		COAT, SYSTEM OZEU				
8	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00
10	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00
12	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
13	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00
		DISPOSAL				
14	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$4,350.00	\$4,350.00

**Total:** \$179,250.00

<b>PAINTIN</b>	PAINTING OF STRUCTURE - ASBURY ROAD (C.R. 223) OVER OHIO TURNPIKE - M.P. 197.8 (Ref. Nos. 15 - 25)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
15	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00	LUMP	\$95,000.00	\$95,000.00	
		OZEU					
16	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$25,000.00	\$25,000.00	
		SYSTEM OZEU					
17	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$25,000.00	\$25,000.00	
		INTERMEDIATE COAT, SYSTEM OZEU					
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00	LUMP	\$25,000.00	\$25,000.00	
		COAT, SYSTEM OZEU					
19	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
20	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00	
21	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00	
22	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00	
23	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00	
24	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00	
		DISPOSAL					
25	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$4,350.00	\$4,350.00	

**Total:** \$179,250.00

<b>PAINTIN</b>	PAINTING OF STRUCTURE - STATE ROUTE 700 OVER OHIO TURNPIKE - MP 198.5 (Ref. Nos. 26 - 36)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
26	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM OZEU	1.00	LUMP	\$95,000.00	\$95,000.00	
27	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SYSTEM OZEU	1.00	LUMP	\$25,000.00	\$25,000.00	
28	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, INTERMEDIATE COAT, SYSTEM OZEU	1.00	LUMP	\$25,000.00	\$25,000.00	
29	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH COAT, SYSTEM OZEU	1.00	LUMP	\$25,000.00	\$25,000.00	
30	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
31	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00	

32	SP 525A WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00
33	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00
34	SP 525A ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00
35	SP 525A PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00
	DISPOSAL				
36	SP 525A CONTAINMENT SYSTEM	1.00	LUMP	\$4,350.00	\$4,350.00

**Total:** \$179,250.00

PAINTIN	PAINTING OF STRUCTURE - NICHOLS ROAD (C.R. 225) OVER OHIO TURNPIKE - MP 199.2 (Ref. Nos. 37 - 47)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
37	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00	LUMP	\$95,000.00	\$95,000.00	
		OZEU					
38	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$25,000.00	\$25,000.00	
		SYSTEM OZEU					
39	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$25,000.00	\$25,000.00	
		INTERMEDIATE COAT, SYSTEM OZEU					
40	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00	LUMP	\$25,000.00	\$25,000.00	
		COAT, SYSTEM OZEU					
41	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
42	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$50.00	\$1,000.00	
43	SP 525A	WORKER PROTECTION	1.00	LUMP	\$1,000.00	\$1,000.00	
44	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00	
45	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$1,000.00	\$1,000.00	
46	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$100.00	\$100.00	
		DISPOSAL					
47	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$4,350.00	\$4,350.00	

**Total:** \$179,250.00

TOTAL BID AMOUNT (REF. ITEMS 1 THRU 47)------ \$852,000.00

## **PANTHER INDUSTRIAL PAINTING**

GENERAL (Ref. Nos. 1 - 3)							
Ref. No. Item No.	Description	Quantity	Units	Unit Price	Extension		
	PREMIUM FOR CONTRACT PERFORMANCE BOND AND	1.00	0	\$15,000.00	\$15,000.00		
1 IB.ART.6	PAYMENT BOND		LUMP				
2 SP 614	MAINTAINING TRAFFIC	1.00	0 LUMP	\$80,000.00	\$80,000.00		
3 624	4 MOBILIZATION	1.00 LUMP		\$70,000.00	\$70,000.00		
				Total:	\$165,000.00		

PAINTING OF STRUCTURE - PECK ROAD (C.R. 167) OVER OHIO TURNPIKE - M.P. 195.2 (Ref. Nos. 4 - 14)						
Ref. No. Item No.	Description	Quantity	Units	Unit Price	Extension	
	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00		\$140,000.00	\$140,000.00	
4 SP 514A	OZEU		LUMP			
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00		\$10,000.00	\$10,000.00	
5 SP 514A	SYSTEM OZEU		LUMP			
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00		\$10,000.00	\$10,000.00	
6 SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP			
	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00		\$10,000.00	\$10,000.00	
7 SP 514A	COAT, SYSTEM OZEU		LUMP			
8 SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00	
9 SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$200.00	\$4,000.00	
10 SP 525A	WORKER PROTECTION	1.00	LUMP	\$100.00	\$100.00	
11 SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00	
12 SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$100.00	\$100.00	
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00		\$1,000.00	\$1,000.00	
13 SP 525A	DISPOSAL		LUMP			
14 SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$5,000.00	\$5,000.00	

\$182,000.00

PAINTING OF STRUCTURE - ASBURY ROAD (C.R. 223) OVER OHIO TURNPIKE - M.P. 197.8 (Ref. Nos. 15 - 25)						
Ref. No. Item No.	Description	Quantity Units	Unit Price	Extension		
	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00	\$140,000.00	\$140,000.00		
15 SP 514A	OZEU	LUMP				
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	\$10,000.00	\$10,000.00		
16 SP 514A	SYSTEM OZEU	LUMP				
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	\$10,000.00	\$10,000.00		
17 SP 514A	INTERMEDIATE COAT, SYSTEM OZEU	LUMP				
	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00	\$10,000.00	\$10,000.00		
18 SP 514A	COAT, SYSTEM OZEU	LUMP				
19 SP 514A	REMEDIATION OF CHLORIDES	32.00 HOURS	\$50.00	\$1,600.00		
20 SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00 HOURS	\$200.00	\$4,000.00		
21 SP 525A	WORKER PROTECTION	1.00 LUMP	\$100.00	\$100.00		
22 SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00 EACH	\$10.00	\$200.00		
23 SP 525A	ESTABLISH REGULATED AREAS	1.00 LUMP	\$100.00	\$100.00		
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	\$1,000.00	\$1,000.00		
24 SP 525A	DISPOSAL	LUMP				
25 SP 525A	CONTAINMENT SYSTEM	1.00 LUMP	\$5,000.00	\$5,000.00		

PAINTING OF STRUCTURE - STATE ROUTE 700 OVER OHIO TURNPIKE - MP 198.5 (Ref. Nos. 26 - 36)							
Ref. No. Item No.	Description	<b>Quantity Units</b>	Unit Price	Extension			
	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00	\$140,000.00	\$140,000.00			
26 SP 514A	OZEU	LUMP					
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	\$10,000.00	\$10,000.00			
27 SP 514A	SYSTEM OZEU	LUMP					
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	\$10,000.00	\$10,000.00			
28 SP 514A	INTERMEDIATE COAT, SYSTEM OZEU	LUMP					
	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00	\$10,000.00	\$10,000.00			
29 SP 514A	COAT, SYSTEM OZEU	LUMP					

30 SP 514A REMEDIATION OF CHLORIDES

31 SP 514A GRINDING FINS, TEARS, AND SLIVERS

Total:

32.00 HOURS

20.00 HOURS

\$182,000.00

\$1,600.00

\$4,000.00

\$50.00

\$200.00

32 SP 525A	WORKER PROTECTION	1.00 LUMP	\$100.00	\$100.00
33 SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00 EACH	\$10.00	\$200.00
34 SP 525A	ESTABLISH REGULATED AREAS	1.00 LUMP	\$100.00	\$100.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	\$1,000.00	\$1,000.00
35 SP 525A	DISPOSAL	LUMP		
36 SP 525A	CONTAINMENT SYSTEM	1.00 LUMP	\$5,000.00	\$5,000.00

**Total:** \$182,000.00

PAINTING OF STRUCTURE - NICHOLS ROAD (C.R. 225) OVER OHIO TURNPIKE - MP 199.2 (Ref. Nos. 37 - 47)					
Ref. No. Item No.	Description	Quantity	Units	Unit Price	Extension
	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM	1.00		\$140,000.00	\$140,000.00
37 SP 514A	OZEU		LUMP		
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00		\$10,000.00	\$10,000.00
38 SP 514A	SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00		\$10,000.00	\$10,000.00
39 SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH	1.00		\$10,000.00	\$10,000.00
40 SP 514A	COAT, SYSTEM OZEU	LUMP			
41 SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$50.00	\$1,600.00
42 SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$200.00	\$4,000.00
43 SP 525A	WORKER PROTECTION	1.00	LUMP	\$100.00	\$100.00
44 SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$10.00	\$200.00
45 SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$100.00	\$100.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00		\$1,000.00	\$1,000.00
46 SP 525A	DISPOSAL		LUMP		
47 SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$5,000.00	\$5,000.00

**Total:** \$182,000.00

TOTAL BID AMOUNT (REF. ITEMS 1 THRU 47)------ \$893,000.00

# **ELITE CONTRACTORS, INC.**

GENERAL (Ref. Nos. 1 - 3)						
Ref. No.	Item No.	Description	Quantity	Units	<b>Unit Price</b>	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND		LUMP	\$20,000.00	\$20,000.00
		PAYMENT BOND	1.00			
2	SP 614	MAINTAINING TRAFFIC	1.00	LUMP	\$80,000.00	\$80,000.00
3	624	MOBILIZATION	1.00	LUMP	\$60,000.00	\$60,000.00
					Total:	\$160,000.00

PAINTING OF STRUCTURE - PECK ROAD (C.R. 167) OVER OHIO TURNPIKE - M.P. 195.2 (Ref. Nos. 4 - 14)							
Ref. No.	. Item No.	Description	Quantity	Units	Unit Price	Extension	
4	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM		LUMP	\$105,000.00	\$105,000.00	
		OZEU	1.00				
5	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,		LUMP	\$18,990.00	\$18,990.00	
		SYSTEM OZEU	1.00				
6	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,		LUMP	\$18,990.00	\$18,990.00	
		INTERMEDIATE COAT, SYSTEM OZEU	1.00				
7	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH		LUMP	\$18,990.00	\$18,990.00	
		COAT, SYSTEM OZEU	1.00				
8	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$100.00	\$3,200.00	
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$100.00	\$2,000.00	
10	SP 525A	WORKER PROTECTION	1.00	LUMP	\$2,000.00	\$2,000.00	
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$2,000.00	\$40,000.00	
12	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$3,000.00	\$3,000.00	
13	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND		LUMP	\$4,000.00	\$4,000.00	
		DISPOSAL	1.00				
14	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00	

\$246,170.00

<b>PAINTI</b>	NG OF ST	RUCTURE - ASBURY ROAD (C.R. 223) OVER OHIO TUR	NPIKE - M	.P. 197.8	(Ref. Nos. 15 -	25)
Ref. No	. Item No.	Description	Quantity	Units	Unit Price	Extension
15	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM		LUMP	\$105,000.00	\$105,000.00
		OZEU	1.00			
16	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,		LUMP	\$18,990.00	\$18,990.00
		SYSTEM OZEU	1.00			
17	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,		LUMP	\$18,990.00	\$18,990.00
		INTERMEDIATE COAT, SYSTEM OZEU	1.00			
18	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH		LUMP	\$18,900.00	\$18,900.00
		COAT, SYSTEM OZEU	1.00			
19	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$100.00	\$3,200.00
20	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$100.00	\$2,000.00
21	SP 525A	WORKER PROTECTION	1.00	LUMP	\$2,000.00	\$2,000.00
22	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$2,000.00	\$40,000.00
23	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$3,000.00	\$3,000.00
24	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND		LUMP	\$4,000.00	\$4,000.00
		DISPOSAL	1.00			
25	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00

xtension
<b>#445 000 00</b>
\$145,000.00
\$30,000.00
\$30,000.00
\$30,000.00
\$3,200.00
\$2,000.00

\$246,080.00

32	SP 525A	WORKER PROTECTION	1.00	LUMP	\$2,000.00	\$2,000.00
33	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$2,000.00	\$40,000.00
34	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$3,000.00	\$3,000.00
35	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND		LUMP	\$4,000.00	\$4,000.00
		DISPOSAL	1.00			
36	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00

**Total:** \$319,200.00

PAINTING OF STRUCTURE - NICHOLS ROAD (C.R. 225) OVER OHIO TURNPIKE - MP 199.2 (Ref. Nos. 37 - 47)						
Ref. No.	. Item No.	Description	Quantity	Units	Unit Price	Extension
37	SP 514A	SURFACE PREPARATION OF EXISTING STEEL, SYSTEM		LUMP	\$99,000.00	\$99,000.00
		OZEU	1.00			
38	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,		LUMP	\$23,225.00	\$23,225.00
		SYSTEM OZEU	1.00			
39	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,		LUMP	\$23,225.00	\$23,225.00
		INTERMEDIATE COAT, SYSTEM OZEU	1.00			
40	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL, FINISH		LUMP	\$23,225.00	\$23,225.00
		COAT, SYSTEM OZEU	1.00			
41	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$100.00	\$3,200.00
42	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$100.00	\$2,000.00
43	SP 525A	WORKER PROTECTION	1.00	LUMP	\$2,000.00	\$2,000.00
44	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$2,000.00	\$40,000.00
45	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$3,000.00	\$3,000.00
46	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND		LUMP	\$4,000.00	\$4,000.00
		DISPOSAL	1.00			
47	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00

**Total:** \$252,875.00

TOTAL BID AMOUNT (REF. ITEMS 1 THRU 47)-----

\$1,224,325.00

## SAFFO CONTRACTORS

GENERAL (Ref. Nos. 1 - 3)							
Ref. No.	Item No.	Description	Quantity	Units	<b>Unit Price</b>	Extension	
	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND	1.00	LUMP	\$12,000.00	\$12,000.00	
1		PAYMENT BOND					
2	SP 614	MAINTAINING TRAFFIC	1.00	LUMP	\$150,000.00	\$150,000.00	
3	624	MOBILIZATION	1.00	LUMP	\$50,000.00	\$50,000.00	
					Total:	\$212,000.00	

PAINTING OF STRUCTURE - PECK ROAD (C.R. 167) OVER OHIO TURNPIKE - M.P. 195.2 (Ref. Nos. 4 - 14)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$100,000.00	\$100,000.00
4		SYSTEM OZEU				
	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$35,000.00	\$35,000.00
5		SYSTEM OZEU				
	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$35,000.00	\$35,000.00
6		INTERMEDIATE COAT, SYSTEM OZEU				
	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$35,000.00	\$35,000.00
7		FINISH COAT, SYSTEM OZEU				
8	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$20.00	\$640.00
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$25.00	\$500.00
10	SP 525A	WORKER PROTECTION	1.00	LUMP	\$7,500.00	\$7,500.00
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$100.00	\$2,000.00
12	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$2,500.00	\$2,500.00
	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$5,000.00	\$5,000.00
13		DISPOSAL				
14	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00

**Total:** \$253,140.00

PAINTING OF STRUCTURE - ASBURY ROAD (C.R. 223) OVER OHIO TURNPIKE - M.P. 197.8 (Ref. Nos. 15 - 25)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$100,000.00	\$100,000.00
15		SYSTEM OZEU				
	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$35,000.00	\$35,000.00
16		SYSTEM OZEU				
	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$35,000.00	\$35,000.00
17		INTERMEDIATE COAT, SYSTEM OZEU				
	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$35,000.00	\$35,000.00
18		FINISH COAT, SYSTEM OZEU				
19	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$20.00	\$640.00
20	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$25.00	\$500.00
21	SP 525A	WORKER PROTECTION	1.00	LUMP	\$7,500.00	\$7,500.00
22	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$100.00	\$2,000.00
23	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$2,500.00	\$2,500.00
	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$5,000.00	\$5,000.00
24		DISPOSAL				
25	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00

PAINTING OF STRUCTURE - STATE ROUTE 700 OVER OHIO TURNPIKE - MP 198.5 (Ref. Nos. 26 - 36) Ref. No. Item No. Description Quantity **Unit Price** Units **Extension** SP 514A SURFACE PREPARATION OF EXISTING STEEL, LUMP \$125,000.00 1.00 \$125,000.00 SYSTEM OZEU 26 SP 514A FIELD PAINTING OF EXISTING STEEL, PRIME COAT, 1.00 **LUMP** \$45,000.00 \$45,000.00 SYSTEM OZEU 27 SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL. 1.00 **LUMP** \$45,000.00 \$45,000.00 INTERMEDIATE COAT, SYSTEM OZEU 28 SP 514A FIELD PAINTING OF NEW AND EXISTING STEEL, 1.00 **LUMP** \$45,000.00 \$45,000.00 FINISH COAT, SYSTEM OZEU 29 SP 514A REMEDIATION OF CHLORIDES \$20.00 30 32.00 HOURS \$640.00 SP 514A GRINDING FINS, TEARS, AND SLIVERS 31 20.00 **HOURS** \$25.00 \$500.00

\$253,140.00

32	SP 525A	WORKER PROTECTION	1.00	LUMP	\$7,500.00	\$7,500.00
33	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$100.00	\$2,000.00
34	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$2,500.00	\$2,500.00
	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$5,000.00	\$5,000.00
35		DISPOSAL				
36	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00

**Total:** \$308,140.00

PAINTING OF STRUCTURE - NICHOLS ROAD (C.R. 225) OVER OHIO TURNPIKE - MP 199.2 (Ref. Nos. 37 - 47)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
	SP 514A	SURFACE PREPARATION OF EXISTING STEEL,	1.00	LUMP	\$100,000.00	\$100,000.00	
37		SYSTEM OZEU					
	SP 514A	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1.00	LUMP	\$35,000.00	\$35,000.00	
38		SYSTEM OZEU					
	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$35,000.00	\$35,000.00	
39		INTERMEDIATE COAT, SYSTEM OZEU					
	SP 514A	FIELD PAINTING OF NEW AND EXISTING STEEL,	1.00	LUMP	\$35,000.00	\$35,000.00	
40		FINISH COAT, SYSTEM OZEU					
41	SP 514A	REMEDIATION OF CHLORIDES	32.00	HOURS	\$20.00	\$640.00	
42	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20.00	HOURS	\$25.00	\$500.00	
43	SP 525A	WORKER PROTECTION	1.00	LUMP	\$7,500.00	\$7,500.00	
44	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20.00	EACH	\$100.00	\$2,000.00	
45	SP 525A	ESTABLISH REGULATED AREAS	1.00	LUMP	\$2,500.00	\$2,500.00	
	SP 525A	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1.00	LUMP	\$5,000.00	\$5,000.00	
46		DISPOSAL					
47	SP 525A	CONTAINMENT SYSTEM	1.00	LUMP	\$30,000.00	\$30,000.00	

**Total:** \$253,140.00